
Dummy sentence.

OntraitediffÃc©rentscas:

1.Noussommesaujourd’huisamedi.Sil’onconsidÃ¨rebienquel’onestlejourquenoussommes(cequi
estassezconventionnel),hierÃc©taitvendredi.OraprÃ¨s-demainestditcommeÃc©tanthier.DÃ¨slors,
aprÃ¨s-demainestvendredi.LejourfictifcorresponddoncÃmercredi.Ilfaut1+1+1+1=4jours
pouratteindredimanche(inclus).Maintenant,onconsidÃ¨requ’avant-hierÃc©taitdemain.Or,sil’on
esttoujourssamedi,avant-hierestjeudi.Siavant-hierestdemain,noussommesmercredi,desortequ’il
fautencore4jourspouratteindredimanche(inclus);

2.Noussommesaujourd’huisamedi.Sil’onconsidÃ¨rebienquel’onestlejourquenoussommes(cequi
estassezconventionnel),aprÃ¨s-demainseralundi.Onsaitdonc,pourlejourfictif,quehierestlundi,
puisquehierestaprÃ¨s-demain.DÃ¨slors,onnepeutqu’Ãatremardi.Ilfaut1+1+1+1+1=5jours
pouratteindredimanche.Onsaitqu’avant-hier,pardÃc©finition,estdemain.Or,sil’onesttoujours
samedi,avant-hierestjeudi.Siavant-hierestdemain,noussommesmercredi,desortequ’ilfaut4jours
pouratteindredimanche(inclus).LesdeuxjoursdiffÃc©rant,leproblÃ¨men’estpasrÃc©soluble;

3.Noussommesaujourd’huisamedi.Sil’onconsidÃ¨rebienquel’onestlejourquenoussommes(cequi
estassezconventionnel),aprÃ¨s-demainseralundi.Onsaitdonc,pourlejourfictif,quehierestlundi,
puisquehierestaprÃ¨s-demain.DÃ¨slors,onnepeutqu’Ãatremardi.Ilfaut1+1+1+1+1=5jours
pouratteindredimanche.Onsaitqu’avant-hier,pardÃc©finition,estdemain.Or,sil’onesttoujours
samedi,demainestvendredi.Siavant-hierestdemain,avant-hierestvendredi,desortequenoussommes
dimanche.LesdeuxjoursdiffÃc©rant,leproblÃ¨men’estpasrÃc©soluble;

4.Noussommesaujourd’huisamedi.Sil’onconsidÃ¨rebienquel’onestlejourquenoussommes(cequi
estassezconventionnel),hierÃc©taitvendredi.OraprÃ¨s-demainestditcommeÃc©tanthier.DÃ¨s
lors,aprÃ¨s-demainestvendredi.LejourfictifcorresponddoncÃmercredi.Ilfaut1+1+1+1=4
jourspouratteindredimanche(inclus).Maintenant,onconsidÃ¨requ’avant-hierÃc©taitdemain.Or,si
l’onesttoujourssamedi,demainestdimanche.Avant-hierestdoncdimanche,desortequenoussommes
mardi.LesdeuxjoursdiffÃc©rant,leproblÃ¨men’estpasrÃc©soluble.
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